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1. Introduction
In RAN3#65bis meeting, it has been agreed that Dynamic scheduling period length = N x SYNC sequence length (N integer, may be 1) [1], but some clarification is needed. In this document, we provide more clarification on this relationship between dynamic scheduling period (DSP) and SYNC sequence.

2. Discussion
MBMS data in a SYNC sequence should be transmitted in one DSP. If MBMS data in one SYNC sequence is transmitted in more than one DSP, the loss of consecutive SYNC packets may spread de-synchronization to the next DSPs. The simplest method to guarantee this scheduling rule is configuring the DSP length to N times of SYNC sequence length, and N is integer. If N is not an integer, some trouble would occur as illustrated in figure1.
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Figure 1 the relationship between DSP and SYNC sequence
In figure 1, DSP length is 1.5 times of SYNC sequence. In case of average data rate, the data of SYNC sequence 2 would be transmitted in the tail of DSP1 and the beginning of DSP2. If there is consecutive SYNC packets lost in the first half of SYNC sequence 2, the transmission of data in DSP2 after the lost packets would also be impacted. Thus, SYNC sequence 3 is impacted and can not be transmitted.
In addition, DSP length is common for several services belonging to the same MCH, and SYNC sequence length is per service. Naturally, it is not necessary to limit DSP length to be the same value with SYNC sequence length, i.e. the parameter N should not always be 1. Furthermore, a long DSP is benefit to smooth the data rate vibration and save radio resources, which requires a large value of N. So, it is reasonable to set dynamic scheduling period length = N * SYNC sequence length, where N is an integer, and may be 1. 
3. Conclusion

This contribution clarified the relationship between DSP length and SYNC sequence length.  And we confirm:

It is reasonable to set dynamic scheduling period length = N * SYNC sequence length, where N is an integer, and may be 1.

A corresponding CR for this agreement is captured in [3].
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